CSE 326 Reading Quiz

Name: ______________________ Score: ____

Monday 6/26/00

1-2 (1/2 pt per part).  Complete this definition by filling in the blanks:  We say that a function f(n) is O(g(n)) if there exists ____________  and __________ such that f(n)≤ ______ g(n) for all  ______ .

Mark each as True or False:

3. ______  N2 is O(N3)

4. ______  N2 is o(N3)

5. ______  N2 is θ(N3)

6. If Euclid's algorithm is applied to the pair of numbers 

35    63

the ultimate answer is the number ______.

Weiss gives a couple of general rules which help to quickly estimate the growth rate of certain algorithms.   Fill in the two blanks with your choice from among: O(1), O(N), O(log N), O(N2), O(NlogN), O(2N):


7. An algorithm is ___________ if it takes O(1) time to cut the problem size by a fraction (which is usually ½).


8. If constant time is required to merely reduce the problem by a constant amount (such as to make the problem smaller by 1), then the algorithm is ______________. 

9.  “An Abstract Data Type is a set of ____________ together with a set of ____________”.

10.  A class that implements the concept of position (for another class, such as a list), and which provides methods than can be used to iterate through the list, is called a(n) ____________.

